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Q.1  How many numbers are there from 300 to 

650 which are completely divisible by both 

5 and 7? 

(A) 8 

(B) 9 

(C) 10 

(D) 12 

Correct Answer: 10 

Sol 

L.C.M of 5 and 7 is  

  8 

   18 

18 ï 8 =10 

Q.2  Raman can do a work in 5 days, Jatin can do 

the same work in 7 days and Sachin can do 

the same work in 9 days. If they do the same 

work together and they are paid Rs 2860, 

then what is the share (in Rs) of Raman? 

(A) 1260 

(B) 700 

(C) 900 

(D) 870 

Correct Answer: 1260 

Sol 

Raman  =5 days  

Jatin   =7 days   

Sachin  =9 days  

Ratio of their efficiency = :  :  = 63 : 45 : 

35 

 =1260 

Q.3  If the diameter of a sphere is 14 cm, then 

what is the surface area (in cm(B) of the 

sphere? 

(A) 616 

(B) 308 

(C) 462 

(D) 636 

Correct Answer: 616 

Sol  

= 4ˊr2 = 4× ×72 = 616 

Q. 4  After two successive discounts of 20% and 

35%, an article is sold for Rs 50700. What is 

the marked price (in Rs) of the article? 

(A) 92500 

(B) 98500 

(C) 97500 

(D) 94000 

Correct Answer: 97500 

=50700×  =97500 

Q.5  Rs 3200 is divided among A, B and C in the 

ratio of 3 : 5 : 8 respectively. What is the 

difference (in Rs) between the share of B 

and C? 

(A) 400 

(B) 600 

(C) 800 

(D) 900 

Correct Answer: 600  

Sol  

ψ υ φππ  

Q.6 -  The average of 5 members of a family is 24 

years. If the youngest member is 8 years old, 

then 9what was the average age (in years) of 

the family at the time of the birth of the 

youngest member? 

 (A) 16 

 (B) 20 

 (C) 24 

 (D) 32 

  

file:///E:/STUDY%20NOTES/myshop.mahendras.org


3 | P a g e 

 

 

STUDY NOTES FOR ALL COMPETITIVE EXAM 

Write us : content@mahendras.org www.mahendras.org www.mahendraguru.com myshop.mahendras.org 

 

Correct Answer: 20 

Sol 

Total Age of the family at the time of birth 

of youngest member = 24×5 ï 5×8 = 80 

Average =  = 20 

Q. 7  If the price of pen decreases by 20%, then a 

man can buy 10 more pens for Rs 100. What 

is the new price (in Rs) of each pen? 

 (A) 1 

 (B) 2 

 (C) 4 

 (D) 5 

Correct Answer: 2 

Sol 

100 × 20% = 20 

ς  

Q. 8  After deducting 60% from a certain number 

and then deducting 15% from the remainder, 

1428 is left. What was the initial number? 

 (A) 4200 

 (B) 3962 

 (C) 4150 

 (D) 4300 

Correct Answer: 4200 

Sol 

=1428×  = 4200 

Q. 9   A train travels 40% faster than a car. Both 

start from point A at the same time and reach 

point B, 140 km away at the same time. On 

the way the train takes 25 minutes for 

stopping at the stations. What is the speed 

(in km/hr) of the train? 

 (A) 67 

 (B) 134.4 

 (C) 145.9 

 (D) 160 

Correct Answer: 134.4 

Sol  

CarSpeed : TrainSpeed = 100 : 140 = 5 : 7 

CarTime : TrainTime= 7 : 5 

TrainTime = υ  

 TrainSpeed = ςτ=134.4  

Q. 60   A certain sum of money triples itself in 5 

years at simple interest. In how many years 

it will be five times? 

 (A) 5 

 (B) 8 

 (C) 10 

(D) 15 

Correct Answer: 10 

Sol  

  

T = 10  

Q. 11 If x +  = 2, then what is the value of x64 + 

x121? 

Options: 

(A) 0 

(B) 1 

(C) 2 

(D) ï 2 
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(B) Correct Answer: 2 

x +  = 2 

then x = 1 

164 + 1121 = 2 

Q. 12 If 6 2 6x= + , then what is the value of 

1
1

1
x

x
- +

-
? 

Options: 

 (A) 2ã3 

 (B) 3ã2 

 (C) 2ã2 

 (D) 3ã3 

Correct Answer: 2ã3 

Sol  

( )
2

1 5 2 6

1 3 2 3 2

1 1
3 2

1 3 2

1
1 3 2 3 2

1

1
1 2 3

1

x

x

x

x
x

x
x

- = +

- = + = +

= = -
- +

- + = + + -
-

- + =
-

 

Q.13.  If a + b + c = 27, then what is the value of (a 

ï 7)3 + (b ï 9)3 + (c ï 11)3 ï 3(a ï 7)(b ï 9)(c 

ï 1 (A) ? 

Options: 

 (A) 0 

 (B) 9 

 (C) 27 

 (D) 81 

Correct Answer: 0 

Sol  

a ï 7(+ (b ï 9) + ( c ï 1 (A) = 27 ï 7 ï 9 ï 11 

=0 

(a ï 7)3 + (b ï 9)3 + (c ï 11)3 ï 3(a ï 7)(b ï 

9)(c ï 1 (A) =0 

Q.14.  If 
2 15

3 5
x=

+
, then what is the value of 

5 3

5 3

x x

x x

+ +
+

- -
? 

Options: 

 (A) ã5 

 (B) ã3 

 (C) ã15 

(D) 2 

Correct Answer: 2 

Sol  

2 15

3 5
x=

+
 

5 3
2

5 3

x x

x x

+ +
+ =

- -
 

Q.15.   The perimeter of an isosceles triangle is 32 

cm and each of the equal sides is 5/6 times 

of the base. What is the area (in cm(B) of the 

triangle? 

Options: 

 (A) 39 

 (B) 48 

 (C) 57 

 (D) 64 
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Correct Answer: 48 

Sola =  b  

  2a + b = 32  

ὦ σς  

b = 12 

a = 10 

A = 
Ѝ

 = 48 

Q.16   If length of each side of a rhombus PQRS is 

8 cm and ᷁ PQR = 120°, then what is the 

length (in cm) of QS? 

Options: 

(A) 4ã5 

(B) 6 

(C) 8 

(D) 12 

Correct Answer: 8 

Sol 

Q᷁PR = 180o ï 120° =60o 

QS =8 

Q.67. In the given figure, ABC is a triangle. The 

bisectors of internal ᷁B and ᷁ C intersect at 

D. If B᷁DC = 48o, then what is the value of 

ὃ᷁(in degree)? 

 

 (A) 48 

 (B) 96 

 (C) 100 

(D) 114 

 

Correct Answer: 96 

Sol 

 ὃ᷁ = 2᷁ BDC =96o 

Q.18. In the given figure, O is the centre of the 

circle and ᷁ DCE = 45o. If CD = 10Ѝς cm, 

then what is the length (in cm) of AC ) ?CB 

 =BD(  

 

 (A) 14 

 (B) 15.5 

 (C) 18.5 

(D) 20 

Correct Answer: 18.5 

 Sol 

18.5 

Q.19.  What is the simplified value of 
sin2A

1+cos2A
? 

 (A) tan A 

 (B) cot A 

 (C) sin A 

(D) cos A 
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Correct Answer: tan A 

Sol  

sin2A
tan

1+cos2A
A=  

Q.20.  What is the simplified value of 
2

secA

cot A+ tan A

å õ
æ ö
ç ÷

? 

 (A) 1 ï cos2A 

 (B) 2sin2A 

 (C) sec2A 

 (D) cosec2A 

Correct Answer: 1 ï cos2A 

Sol 
2

2

2

2 2

secA

cot A+ tan A

1
sin coscos

cos sin cos

sin cos

sin 1 cos

A AA
A A A

A A

A A

å õ
æ ö
ç ÷

å õ
æ öå õ

=æ öæ ö
ç ÷æ ö+

ç ÷

= -

 

Q.21.  What is the simplified value of 1 + tan A tan 

(A/2)? 

 (A) sin A/2 

 (B) cos A 

 (C) sec A 

 (D) sin A 

Correct Answer: sec A 

Sol : 1 + tan A tan (A/ (B) = sec A 

Q.22. Which value among 
63 4 125, 6, 12, 276 is 

the largest? 

 (A)  

 

 (B)  

 

 (C)  

 

 (D)  

Correct Answer:  

Sol  

6 23 4 4 4 3 3 2 12

1212 12 12

5 , 6 , 12 , 276

625, 216, 144, 276

³³ ³

 

 

Q.23. A piece of work was finished by A, B and C 

together. A and B together finished 60% of 

the work and B and C together finished 70% 

of the work. Who among the three is most 

efficient? 

 (A) A 

 (B) B 

 (C) C 

 (D) A or B 

Correct Answer: C 

Sol 

A + B + C = 100% 

A + B = 60% 

B + C = 70% 

A = 30%, B=30%, c = 40% 

Q.24. Three solid spheres of radius 3 cm, 4 cm and 

5 cm are melted and recasted into a solid 

sphere. What will be the percentage 

decrease in the surface area? 

(A) 12 

(B) 14 

(C) 16 

(D) 28 

Correct Answer: 28 
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Sol 

 
3 3 3 34 22 4 22

(3 4 5 )
3 7 3 7

6

R

R

³ + + = ³ ³

=

 

2 2 24 (3 4 5 ) 200

4 36 144

200 144
100 28%

200

p p

p p

p p

p

³ + + =

³ ³ = ³

³ - ³
³ =

³

 

Q.25. The marked price of a sofa set is Rs 4800 

which is sold at Rs 3672 at two successive 

discounts. If the first discount is 10%, then 

what will be the second discount (in %)? 

 (A) 13 

 (B) 14 

 (C) 15 

 (D) 17 

Correct Answer: 15 

Sol 

 
90 100

4800 3672
100 100

15%

D

D

-
³ ³ =

=

 

Q.26.  A, B and C invested amounts in the ratio 3 : 

4 : 5 respectively. If the schemes offered 

compound interest at the rate of 20% per 

annum, 15% per annum and 10% per annum 

respectively, then what will be the ratio of 

their amounts after 1 year? 

 (A) 3 : 15 : 25 

 (B) 6 : 6 : 5 

 (C) 36 : 46 : 55 

 (D) 12 : 23 : 11 

Correct Answer: 36 : 46 : 55 

Sol 

3×120 : 4×115 : 5×110 = 36 : 46 : 55  

Q.27.  The average age of 120 members of a 

society is 60.7 years. By addition of 30 new 

members, the average age becomes 56.3 

years. What is the average age (in years) of 

newly joined members? 

 (A) 36.5 

 (B) 37.2 

 (C) 38.3 

 (D) 38.7 

Correct Answer: 38.7 

Sol 

 120×60.7+30× A = 56.3×150 

 A = 38.7  

Q.28.  By selling 175 pineapples, the gain is equal 

to the selling price of 50 pineapples. What is 

the gain percentage? 

 (A) 28 

 (B) 30 

 (C) 32 

 (D) 40 

Correct Answer: 40 

Sol 
50

100 40%
175 50

³ =
-

  

Q.29.  If A has got 20% more marks than B, then 

by what percent marks of B are less than the 

marks of A? 

 (A) 16.66 

 (B) 20 

 (C) 33.33 

(D) 14.28 

Correct Answer: 16.66 

Sol 

A = 120 

B = 100 
20

100 16.66%
120
³ =   

Q.30. A train leaves Delhi at 10 a.m. and reaches 

Jaipur at 4 p.m. on same day. Another train 

leaves Jaipur at 12 p.m. and reaches Delhi at 
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5 p.m. on same day. What is the time of day 

(approximately) when the two trains will 

meet? 

 (A) 1:42 p.m. 

 (B) 1:27 p.m. 

 (C) 2:04 p.m. 

 (D) 1:49 p.m. 

Correct Answer: 1:49 p.m.Sol  

Time taken by first train = 6 hrs 

Time taken by second train = 5 hrs 

Let the distance between two station be 30 

(i.e. 6×5) 

Speed of 1st train =
30

5
6
= km/hr 

Speed of 2nd train =
30

6
5
= km/hr 

Time taken to meet after 12 = 
30 5 2 20

5 6 11

- ³
=

+
 

They will meet at 12 : 00 p.m. + 01 : 49 =1 : 

49 p.m 

Q.31. The difference between the compound 

interest compounding half yearly for 1 year 

and the simple interest for 1 year on a certain 

sum of money lent out at 8% per annum is 

Rs 64. What is the sum (in Rs)? 

(A) 40000 

(B) 42000 

(C) 44000 

(D) 44800 

Correct Answer: 40000 

Sol 
2

4
64

100

40000

P

P

å õ
= æ ö
ç ÷

=

 

Q.32.  If (x ï  (B) and (x +  (C) are the factors of 

the equation x2 + k1x + k2 = 0, then what are 

the values of k1 and k2? 

(A) k1 = 6, k2 = ï 1 

(B) k1 = 1, k2 = ï 6 

(C) k1 = 1, k2 = 6 

(D) k1 = ï 6, k2 = 1 

Correct Answer: k1 = 1, k2 = ï 6 

Sol 

x ï 2 = 0 

x = 2 

4 + 2k1 + k2 = 0 ï (i) 

x + 3 = 0 

x = ï 3 

9 ï 3k1 + k2 = 0 ï (ii)  

Solving eq(i) and eq (ii) simultaneously 

 k1 = 1, k2 = ï 6 

Q.33. If (x ï y) = 7, then what is the value of (x ï 

15)3 ï (y ï 8)3? 

(A) 0 

(B) 343 

(C) 392 

(D) 2863 

Correct Answer: 0 

x ï 15 ï y + 8 = 7 ï 15 + 8  

(x ï 15) ï (y ï 8) = 0 

 (x ï 15)3 ï (y ï 8)3 = 0 

Q.34.  If x ï y ï ã18 = ï1 and x + y ï 3ã2 = 1, then 

what is the value of 12xy(x2 ï y2)? 

(A) 0 

(B) 1 

(C) 512ã2 

(D) 612ã2 

Correct Answer: 612ã2 
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Sol  

 

( )( )

( ) ( )

( )

2 2

2 2

2 2

3 2 1

3 2 1

3 2 1 3 2 1 17

12 3 3 2 1 3 2 1

12 36 2

12 36 2 17 612 2

x y

x y

x y

xy

xy

xy x y

- = -

+ = +

- = + - =

è ø= ³ + - -
é ùê ú

=

- = ³ =

 

Q.35.  If 5
p r t

q s u
= = = , then what is the value of 

2 2 2

2 2 2

3p    4r    5t

3q    4s    5u

+ +

+ +
? 

 (A) 1/5 

 (B) 5 

 (C) 25 

 (D) 60 

Correct Answer: 5 

( )
2 2 2 2

2 2 2

3p    4r    5t
5 5

3q    4s    5u

+ +
= =

+ +
  

Q.36.  In triangle ABC, a line is drawn from the 

vertex A to a point D on BC. If BC = 9 cm 

and DC = 3 cm, then what is the ratio of the 

areas of triangle ABD and triangle ADC 

respectively? 

(A) 1 : 1 

(B) 2 : 1 

(C) 3 : 1 

(D) 4 : 1 

Correct Answer: 2 : 1 

Sol 

BD : DC = 9 ï 3 : 3 = 2 : 1 

Height will be same for both the triangle 

Thus ratio of area will be same as the ratio 

of their base. 

i.e. 2 : 1 

Q.37.  PQR is a right angled triangle in which R᷁ 

= 90°. If RS Ṷ PQ, PR = 3 cm and RQ = 4 

cm, then what is the value of RS (in cm)? 

 (A) 12/5 

 (B) 36/5 

 (C) 5 

(D) 2.5 

Correct Answer: 12/5 

Sol 
3 4 12

5 5

³
=   

Q.38. In triangle PQR, A is the point of 

intersection of all the altitudes and B is the 

point of intersection of all the angle 

bisectors of the triangle. If ᷁PBR = 105°, 

then what is the value of ᷁PAR (in degrees)? 

 (A) 60 

 (B) 100 

 (C) 105 

(D) 115 

Correct Answer: 60 

Sol 

105 90
2

30

2 60

PQR

PQR

PAR PQR

Ï
= +

Ï =

Ï = Ï =

 

Q.39. If there are four lines in a plane, then what 

cannot be the number of points of 

intersection of these lines? 

(A) 0 

(B) 5 

(C) 4 

(D) 7 

Correct Answer: 7 

Sol 7 
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Q.40. What is the simplified value of cosec 2A + 

cot 2A? 

(A) sec A 

(B) sec (A/2) 

(C) cot A 

(D) cot2 A 

Correct Answer: cot A 

2

cosec 2A + cot 2A

1 cos2 1 cos2

sin 2A sin 2 sin 2

2cos
cot

2sin cos

A A

A A

A
A

A A

+
+ =

=

 

Q.41. If A = 30°, B = 60° and C = 135°, then what 

is the value of sin3A + cos3B + tan3C ï 3sin 

A cos B tan C? 

(A) 0 

(B) 1 

(C) 8 

(D) 9 

Correct Answer: 0 

Sol 

 
3 3 3

3 3 0 3

0

sin A  cos B  tan C ï 3sin A cos B tan C

sin 30 + cos 60 +tan (90+45)

ï 3sin 30 cos 60 tan (90+45)

1 1 1 1
1 3 ( 1) 0

8 8 2 2

o o

o o

+ +

+ - - ³ ³ ³ - =

 

Q.42 - What is the least value of tan2 ɗ + 

cot2 ɗ + sin2 ɗ + cos2 ɗ + sec2 ɗ + cosec2 ɗ? 

 (A) 1 

 (B) 3 

 (C) 5 

(D) 7 

Correct Answer: 7 

 Sol 

2 2 2 2 2 2

2 2

tan     cot     sin     cos     sec     cosec  

1 1 2 tan   1 2cot  

3 2 2 2 7

q q q q q q

q q

+ + + + +

+ + + +

+ ³ =

 

Q.43. How many numbers are there from 2000 to 

7000 which are both perfect squares and 

perfect cubes? 

(A) 0 

(B) 1 

(C) 2 

(D) 3 

Correct Answer: 1 

Sol 4096 

Q.44.  3 men or 4 women can complete a job in 120 

days. 12 men and 16 women will complete 

the same job in how many days? 

 (A) 12 

 (B) 14 

 (C) 15 

(D) 18 

Correct Answer: 15 

3 M = 4W 

12 M = 16W 

3×120 =(12+12)×D 

D =15 

Q.45  If the diameter of a hemisphere is 21 cm, 

then what is the volume (in cm3) of 

hemisphere? 

 (A) 2810 

 (B) 1250.5 

 (C) 1725.25 

 (D) 2425.5 

Correct Answer: 2425.5 

Sol  
3

2 22 21
2425.5

3 7 2

å õ
³ ³ =æ ö

ç ÷
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Q.46 After two successive discounts of 20% and 

12% an article is sold for Rs 16896. What is 

the marked price (in Rs) of the article? 

 (A) 21500 

 (B) 23800 

 (C) 22000 

(D) 24000 

Correct Answer: 24000 

Sol 

100 100
16896 24000

80 88
³ ³ =  

Q.47 The ratio of speed of three racers is 3 : 4 : 6. 

What is the ratio of time taken by the three 

racers to cover the same distance? 

 (A) 3:4:6 

 (B) 6:4:3 

 (C) 4:3:2 

 (D) 2:3:5 

Correct Answer: 4:3:2 

Sol 

1 1 1
: : 4 :3: 2

3 4 6
=   

Q.48 In a match, average of runs scored by 7 

players is 53. If the runs scored by 6 players 

are 121, 40, 26, 56, 37 and 48, then how 

many runs did the 7th player scored? 

 (A) 26 

 (B) 37 

 (C) 43 

 (D) 48 

Correct Answer: 43 

53×7ï (121+ 40+ 26+ 56 + 37 + 48) = 43 

Q.49  Mohit buys an old bicycle for Rs 2700 and 

spends Rs 500 on its repairs. If he sells the 

bicycle for Rs 3520, then what is his profit 

percentage? 

(A) 10 

(B) 12.5 

(C) 15 

(D) 20 

Correct Answer: 10 

Sol  

C.P = 2700 + 500 = 3200 

P%= 
3520 3200

100 10%
3200

-
³ =   

Q.50 If the price of onion increases from Rs 24/kg 

to Rs 36/kg, then by what percentage a 

household should decrease the consumption 

of onion so that expenditure remains same? 

  (A) 25 

 (B) 33.33 

 (C) 50 

 (D) 20 

Correct Answer: 33.33 

Sol 

24× 100 = 36×(100 ï x) 

x = 33.33%  

Q.51 A train travels 20% faster than a car. Both 

start from point A at the same time and reach 

point B, 180 km away at the same time. On 

the way the train takes 30 minutes for 

stopping at the stations. What is the speed 

(in km/hr) of the train? 

 

 (A) 56 

 (B) 66 
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 (C) 72 

(D) 80 

Correct Answer: 72 

Sol   

CarSpeed : TrainSpeed = 100 : 120 = 5 : 6 

CarTime : TrainTime= 6 : 5 

TrainTime = υ  

 TrainSpeed = ς = 72 

Q.52 A sum of Rs 720 amounts to Rs 882 at 

simple interest in 
1

1
2

years. In how many 

years will the sum Rs 800 amount to Rs 

1040 at the same rate? 

 (A) 25/7 

 (B) 2 

 (C) 31/7 

 (D) 33/7 

Correct Answer: 2 

Sol 

720 3
162

100 2

15%

800 15
240

100

2

R

R

T

t

³ ³
=

³

=

³ ³
=

=

 

Q.53 If  (x/y)a-4 = (y/x)2a-5, then what is the relation 

between x and y? 

(A) x > y 

 (B) Cannot be determined 

 (C) x < y 

 (D) x = y   

Correct Answer: Cannot be determined 

 Sol : Cannot be determined 

Q.54 If 
1

3x
x
+ =, then what is the value of 

4 3 2

4

5 3 5 1

1

x x x x

x

+ + + +

+
? 

 (A) 25/7 

 (B) 4 

 (C) 31/7 

 (D) 33/7 

  Correct Answer: 25/7  

Sol 
4 3 2

4

22 2

22

2 2 2

2 2

2

2

5 3 5 1

1

1 15 1
5 35 3

1 1

1
3

1
7

7 15 3 25

7 7

x x x x

x

x xx x x
x xx x

x x x
x x

x
x

x
x

+ + + +

+

å õå õå õ
+ + + ++ + + + æ öæ öæ ö

ç ÷ç ÷ ç ÷=
å õ å õ
+ +æ ö æ ö

ç ÷ ç ÷

+ =

+ =

+ +
= =

 

Q.55 - If 
3

3 3 0a
a
- - =, then what is the value of 

3

3

1
2a

a
- +? 

 (A) 0 

 (B) 2 

 (C) 4 

 (D) 6 

Correct Answer: 6 

Sol  

3 3

3

3

3

3
3 3

1
1

1
1 3 1 4

1
2 4 2 6

a
a

a
a

a
a

a
a

- =

- =

- = + ³ =

- + = + =
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Q.56 If 
2 2

2 2

1 1
194

1 1

x x x x

x x x x

+ - - -
+ =

- - + -
, then 

what is the value of x? 

 (A) 7/2 

 (B) 4 

 (C) 7 

(D) 14 

Correct Answer: 7 

Sol 
2 2

2 2

2 2 2 2 2 2

2 2

2

1 1
194

1 1

1 2 1 1 2 1
194

1

4 196

7

x x x x

x x x x

x x x x x x x x

x x

x

x

+ - - -
+ =

- - + -

+ - + - + + - - -
=

- +

=

=

 

Q.57 In ȹABC, AD is the median and AD = 

(1/2)BC. If A᷁CD = 40°, then what is the 

value (in degrees) of ᷁DAB? 

Options: 

 (A) 30 

 (B) 40 

 (C) 50 

 (D) 80 

Correct Answer: 50 

Sol  

  

Q.58 Circum-centre of ȹABC is O. If B᷁AC = 

75° and ᷁ BCA = 80°, then what is the value 

(in degrees) of ᷁OAC? 

(A) 45 

(B) 65 

(C) 90 

(D) 95 

Correct Answer: 65 

A᷁BC =180 ï 75 ï 80 = 25 

A᷁OC =2×25=50 

O᷁AC = 
180 50

65
2

-
=  

Q.59 Smaller diagonal of a rhombus is equal to 

length of its sides. If length of each side is 4 

cm, then what is the area (in cm(B) of an 

equilateral triangle with side equal to the 

bigger diagonal of the rhombus? 

 (A) 6 

 (B) 9ã3 

 (C) 12 

 (D) 12ã3 

Correct Answer: 12ã3 

Sol 

Longer diagonal will be 4ã3 

Area = ( )
23

4 3 12 3
4
³ =  

Q.60 In the given figure, MN= RM = RP, then 

what is the value (in degrees) of ᷁MPR? 

 

Options: 

 (A) 47 

 (B) 68 

 (C) 72 

 (D) Cannot be determined 
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Correct Answer: 68 

Sol  

M᷁RN = M᷁NR =x 

 M᷁PR =᷁ PMR =2x 

3x = 102 

2x =68 

Q.61 What is the simplified value of (cos A + sin 

A)(cot A + tan A)? 

 (A) sec A + cosec A 

 (B) sin A + cos A 

 (C) tan A + cot A 

 (D) sec A ï cosec A 

Correct Answer: sec A + cosec A 

( )( )

( )

cos A  sin A cot A  tan A

cos A sin A
cos A  sin A   

sin cos

1 1
cos sec

sin cos

A A

ecA A
A A

+ +

å õ
+ +æ ö

ç ÷

+ = +

 

Q.62 What is the simplified value of 

cos cos

cos 1 cos 1

ecA ecA

ecA ecA
+

- +
? 

(A) ã2 sec A 

(B) ã2 cosec A 

(C) sec 2 A 

(D) 2 sec A 

Correct Answer: ã2 sec A 

2 2

cos cos

cos 1 cos 1

1 1
1 1sin sin

1 1 1 sin 1 sin
1 1

sin sin

1 sin 1 sin 2
2 sec

1 sin cos

ecA ecA

ecA ecA

A A

A A

A A

A A
A

A A

+
- +

+ = +
- +

- +

+ + -
= =

-

 

Q.63 If 2 cos ɗ = 2 ï sin ɗ, then what is the value 

of cos ɗ? 

(A) 1 or 3/5 

(B) 1 or ï1/2 

(C) ï1 orï1/2 

(D) ï1 or 3/5 

Correct Answer: 1 or 3/5 

Sol 

1 or 3/5 

Q.64 If the sum of a number and its reciprocal 

be 2, then the number is 

 (A) 0 

 (B) 1 

 (C) -1 

 (D) 2 

Correct Answer: 1 

Sol 

1
2

1

x
x

x

+ =

=

 

Q. 65 The price of a shirt after 15% discount, is 

Rs.119. What was the marked price of the 

shirt before discount? 

 (A) Rs.129 

 (B) Rs.140 

 (C) Rs.150 

 (D) Rs.160 

Correct Answer: Rs.140 

Sol 

119
100 140

85
³ =  

Q.67 - If 
a b c

q r r p p q
+ =

- - -
, then find the value 

of pa+qp+rc. 

 (A) 0 

 (B) 1 

 (C) 2 

 (D) -1 
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Correct Answer: 0 

Sol  

0 

Q.68.  The average of a,b,c is 20 and that of b,c,d 

is 25, if d=30, then the value of a is 

 (A) 25 

 (B) 45 

 (C) 30 

 (D) 15 

Correct Answer: 15 

Sol  

d ï a =25×3 ï 20×3 = 15 

30 ï a = 15 

a = 15 

Q.69. A store sells a watch for a profit of 25% 

of the cost. Then the percentage of profit 

against selling price is 

(A) 22% 

(B) 20% 

(C) 18% 

(D) 15% 

Correct Answer: 20% 

Sol  

CP =100 

SP =125 

P% = 
25

100 20%
125
³ =  

Q.70. If A is equal to 20% of B and B is equal to 

25% of C; then what percent of C is equal 

to A? 

(A) 10 

(B) 15 

(C) 5 

(D) 20 

Correct Answer: 5 

Sol 

C = 100 

B = 25  

A = 5 

Q.70.  A gun is fired at a distance of 1.7 km from 

Ram and he hears the sound after 25 

seconds. The speed of sound in meter per 

second is 

 (A) 60 

 (B) 62 

 (C) 64 

 (D) 68 

Correct Answer: 68 

Sol  

1700
68

25
=  

Q.71. A sum of  3000 yields an interest of  

1080 at 12% per annum simple interest in 

how many years ? 

 (A) 4 Years 

(B) 3 Years 

(C) 5 years 

(D) 2½ Years 

Correct Answer: 3 Years 

Sol  

3000 12
1080

100

3

T

T

³ ³
=

=

  

Q.72. The simplest value of 
3 8 2 12 20

3 18 2 27 45

- +

- +

is  

Options: 

 (A) 3/2  

 (B) ӏ 

 (C) ӎ 

 (D) 2 

Correct Answer: ӏ 

Sol  
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( )
( )

3 8 2 12 20 6 2 4 3 2 5

3 18 2 27 45 9 2 6 3 3 5

2 3 2 2 3 5 2

33 3 2 2 3 5

- + - +
=

- + - +

- +
=

- +

 

Q.73 If 

2
1

3a
a

å õ
+ =æ ö

ç ÷
, then value of 

3

3

1
a

a
+ is 

(A) 0 

(B) 
1

3 a
a

å õ
+æ ö

ç ÷
 

(C) 
2

2

1
3 a

a

å õ
+æ ö

ç ÷
 

(D) 1 

Correct Answer: 0 

Sol 

3

3

1
3

1
0

a
a

a
a

+ =

+ =

 

Q.74 If 
2 2 2 2 2 2

2 2 2

1a b b c c a

c a b k

+ + +
= = =,( )0k¸

then k is 

 (A) 2 

 (B) 1 

 (C) 0 

 (D) ½ 

Correct Answer: ½ 

Sol  

k(a2 + b2)= c2 

k(b2 + c2)= a2 

k(c2 + a2)= b2 

2k(a2 + b2+ c2)= a2 + b2 + c2 

k = ½  

Q.75. The area of the largest triangle that can 

be inscribed in a semicircle of radius 6m 

is 

1) 36 m2 

2) 72 m2 

3) 18 m2 

4) 12 m2 

Correct Answer: 36 m2 

Sol  

Base = 2×6 

Height = 6 

Area = 
1

6 12 36
2
³ ³ = 
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